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02 =N+ H| 10,000 10,000 0
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S 11,000
[Ea 11,000
q2M2 24 87,700 75,640 12,060
201 fEr2E | 23,700 25,440 A1,740
01 AtR 2t 2l Hl 15,600 6,840 8,760
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-=2=2 8,350& x5 A| 2t %249 10,396
- =524 8,350 x5A| 2t *48L! 2,004
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201 2yt 2 Y| 156,455 211,965 ~55,510
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O&=J] ¥ Hld L0 & 22|yl
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OAL&EXHEE 2 XEHI 300,000& x2H x23| 1,200
OzZgils2 29 422 70,000& x12& 840
O=Z=gilsa 2428 2¢ 120,000& x12& 1,440
OZgly & EAI| A28 FLH|
250,000& *43| 1,000
OsAMEX FLH 25,000 x178F A 425
Olls2 AZtAZ22 X A 8,000& x80& 640
OA&H0N=&ZE HXH| 250,000& =154 3,750
Of0ls&d A 2| 40,000& =203 800
Oll=8 83 22Xz 1,000,000& 23] 2,000
OFL0I&=8 28 =2 300,000& *10& 3,000
02 33249l 86,320 78,120 8,200
Oddtet = 100,000& = 12& 1,200
O&IItEE2F 3| 60,000& 60
OL%Eols bl (gst & Es22)
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OIAENM BAIE 23 3| 130, 000& 130
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OxE, 88 ,8I| ,2HBAE 5 S22l
100,000 1200 & 1,200
OXIRS 3,500,000 1201 & 42,000
O2ZAEF & HANEBEE 4,000,000& *33] 12,000
OBNEHY L 2B
300& *1,00001 x63 1,800
Ost==22 g3l 300,000 300
OdJ|etd 2te| O &l 310,000& 1200 & 3,720
ORQIAHIAAE 22ld| 420,000 x1274 & 5,040
OsZdoletdzeltl 320,000 1200 & 3,840
OAagord ztell 490,000& 1274 & 5,880
O&ZD| erd el A Akl 250,000 250
Od2 RAEB=Hl 2,000,000 =104 2 2,000
OJIAEH |RXE=HI 100,000& 12 1,200
OAUWSIIE2 =3 el 600,000 600
OZHOIX |FX2e 224 5,000,000& 5,000
03 &Ar2 Gl 53,000 110,000 A57,000
OJlal & SEHEA AR 50,000
-SEETEA(EM ) 25,000,000& »23| 50,000
O=g nsxZz)d 29 300,000& =102l 3,000
202 04l 2,240 2,240 0
01 = LHA YI 2,240 2,240 0
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09 HALAHIEA S 4,448 4,448 0
O2steiAb & HIOILE JHE AHl 24
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H2eAM2 =4 100,000 100,000 0
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401 AIEHIZ 28I 80,000 80,000 0
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23N MAHAN s BEE(2SL2Z/2sM) 209,823 112,061 97,762
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[ia 92,023
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= 86,000
= 31,800
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INNEEZM & SE23M =38 XA 112,000 23,000 89,000
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< 16,800
e 39,200
401 Al HIZ 2018 112,000 23,000 89,000
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s 39,200
01 A& HI 112,000 23,000 89,000
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< 1,800
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CXNEESSM B 37,823 89,061 N51,238
23R 22 9,900 18,700 A 8,800
201 et 9| 3,000 3,000 0
01 AP 2t 2| H| 3,000 3,000 0
O3t H&rEIF 24| 100,000 *x203| 2,000
O3 HM=E=ZA ABREIRA (ALY, 8F
s 100, 000 1000 & 1,000
202 04| 1,900 700 1,200
01 2Ll 1,900 700 1,200
O2stM2el g2 =& o]
20,000 2«30 1,200
O23M 2 e A 70,000& 10 700
401 Al HI L £ 0HHI 5,000 15,000 A 10,000
01 Al& H| 5,000 15,000 A 10,000
O2sMES S=2=7H| 5,000,000& 5,000
Z3RrA 2l 27,923 70,361 N42,438
101 e1214| 27,923 50,361 N22,438
04 J|12ZtHIZ22NEES 27,923 50, 361 N22,438
O 23 ALAl 2 2] 66,800 x 19 220 A %12l 27,923
ZHZ A RS (232 2ha/2) 1,827,896 2,003,371 N 175,475
Fag 10,000
J| 13,312
= 1,804,584
SEMAL EH 1,374,740 1,544,490 A 169,750
SFHUHIH=E M 0= 1,314,740 1,475,490 A 160,750
201 £Bt24d| 275,440 330,840 A 55,400
01 AP 22| H| 226,440 252,840 N 26,400
OFH=H E2X0 =44 8,000 x5 x50 2,400
O=EHS AR =4H| 8,000 x250H x6 12,000
O=EE2 842 M 70,000 x 110 A *23] 1,540
O0lss&a AdXE 3,100,000& *x10= 31,000
O A FAX22S 0 SHH=E 2
150,000& »50H 7,500
OFGHMA & JIEFaaEd 6,000,000& 6,000
OFHE 22124 BHd 2l Mz
40,000 x 15004 &~ 6,000
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ol BESA S4 (B9 ®R)
2 S 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OFMIZ2X, NEEAMK A2 HEEZ I M
&t 10,0002 x5008 5,000
O=M E2(E2, olgyes 5)
1,500, 000& =400 Ak 60,000
OPQIul TEAIQIE &2¢ctel 21
6,000,000 *2JH Ak 12,000
OHAE HE, T, HEEA S S50 HH
70,000 200K 2~ 14,000
OQOBSUALA Ot =2 ¥ =28 HE
2,000,000 50 & 10,000
OHALE Ot SEEE2 M
2002 «50, 0000H 10,000
O=HM g 212 M 2502 x50,0000H *23! 25,000
OSMAIE HEH Ui AZHIE HE
500 x40, 0000H 20,000
OFH =3%&, S& 5 HM& 2,000&*2,000% 4,000
02 E2=22%H| 11,000 10,000 1,000
OFXE Y MEH S HAYE JHHaEES
10,000,000& 10,000
OZNZ=HE Qe Mdsa 2H(HUY22)
1,000,000 1,000
03 A2 G HI 38,000 68,000 A 30,000
O=8 mHyole &4 2,000,000 9 SHA 18,000
QOMEA =5tHA EH(EZ2=01S)
20,000,000 20,000
202 04 d| 58,300 57,600 700
01 2Ll 58,300 57,600 700
OUHIEHM =&Y 20,000& *4H 50 4,000
OANA: SH UHIZEH 2 100,000& 543H 54,300
206 M = H| 35,000 35,000 0
01 X2 Hl 35,000 35,000 0
OokLiglYeldl 8AIEg Udl 2
3,000 «10,0000} 2l 30,000
OMeg=Z=zd 29 M 7Y 5,000,000& 5,000
307 QI2t0| ™ 900,000 900,000 0
04 CIZ2tSHALALS B X 900,000 900,000 0
SHOH=H XS 700,000,000& 700,000
OREZLHIA 200,000,000& 200,000
401 AlEHIZL £ 0HY| 46,000 136,000 A 90,000
01 Al& H| 46,000 136,000 A 90,000
O=HZ 2A JIIAIE It 2 AH|
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- S3&X # 4,000 25 A x 128 «25 2,400
- HEEE 722 2,0003*250 2 +12F «20H & 1,200
- HAAZ(MEW S) 250,000 »23| 500
- MYII8E FA(5021E) 5,3002*100F S 530
- MYIISE (10021 EH)
10,2002 * 100 S 1,020
202 04l 2,490 2,490 0
01 = LH 4 1 2,490 2,490 0
O MSAMES B2l BT L LXK A8
70,0003 *5& 32 1,050
O B2HMsALEE 22 &XEH
20,0003 x6 128 1,440
206 M= Hl 13,086 13,086 0
01 =8l 13,086 13,086 0
O &l sAdFdH(BE2s%) 6,336
- &2 20,000& x16= X *3& *33l 2,880
- &= 18,000& x16= K| *3& *43| 3,456
O &0 o =222 HIERLH (BE2EE) 3,450
- Hl=2(28) 15,0003 *20 L x2 5 *23| 1,200
- 2RI = (LEEHl) 15,000& » 150 2,250
O 24232 204 HHEE 2+l
20,000 60 H 1,200
O #EE7E 228 437
,000& * 150 *23| 2,100
301 et a = 7,101 13,254 N6,153
0B M ERRIABHS 7,101 13,254 26,153
OZdILe= 7,101
-3=2 405, 7003 x 18 128 4,869
- WSH| 3,000 » 1 248 744
- AlH] 6,000 » 1 248 1,488
NEM=AE 22 X3 174,060 204,080 A 30,020
201 £B-2dH| 14,160 14,160 0
01 At 22l 6,000 6,000 0
OFEHUAZ 2X Xz 6,000,000& 6,000
02 2324l 8,160 8,160 0
OAHOIEEE HII2= 60,0003 +8H2+12IH 2 5,760
OFAEZ AHOE=E RA2e
150,000& *8JH £ %23 2,400
307 21201 A 2,400 4,920 A2,520
02 It S AIHE L 2,400 4,920 A 2,520
OFEHUAE M2 ¢ 22 XA
200,000 122 2,400
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PSP ﬂl%&é 4 (232 /HK)
ool HSAaE el 2 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
401 Al HI 2L 2 0HHI 157,500 180,000 N 22,500
01 A& HI 157,500 180,000 N 22,500
OUtE2H% MSAId 23J17 X 4L B2
6,500, 000& =154 £ 97,500
OMESA&E=2 HES 5,000,000& *x2J4 A~ 10,000
OgdH&eE & =X =4 30,000,000& 30,000
OFtd2el 3 ZHHE L AMAIHE 2D 2
o] 20,000, 0003 *14] 20,000
a2ty A L 22 620,993 20,898 600,095
101 @121 H| 9,053 8,958 95
04 JI2ZtHI22NHESE 9,053 8,958 95
O Ia=sZF 22| 22 66,8008 *x3H 20! 4,008
O &=x HAH &gogy 66,8002 x5 x9 3,006
O WHI Hgol2Y 127,391 & x4H x4 2,039
201 Bt A | 1,112 1,112 0
02 35244l 1,112 1,112 0
O IIa3Z & A2 HH RAEALE 600
- SE0FJIs EHl =&d=X bl
300, 000& *=2CH 600
O A=x52 FANE=HI 4,000& x128m* 512
206 M = Hl 10,828 10,828 0
01 X2 bl 10,828 10,828 0
O &0 € =F22 HEaFe 9,100
-H=202s) 7¢ 500,000& *33] 1,500
- RJ|& H2(LSEH )T 15,000 x40 600
- BAg A2y 4002 *10,000& 4,000
-HEE 247 20,000& =150 m’ 3,000
O &Cl2e s272Ydl 1,728
- &=H 18,000& *16 = X *35 *23| 1,728
401 IS HI L 2T 600,000 0 600,000
01 A& HI 600,000 0 600,000
O IasZ& =48 AY 600,000,000& 600,000
SHESBMSAL 22l 2 29 15,492 15,492 0
201 et A | 15,492 15,492 0
01 AFR2t2l Yl 1,080 1,080 0
O bl degs 30,000& *3H A+ 12 1,080
02 3524l 14,412 14,412 0
O sHE=EEA=ANE X222l
6,000& 764 m’ 4,584
O sHESENSAE 3322 7,200
-HdIIe3 500,000& 12& 6,000
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g ﬂl%&é Y (2L 22 /M=)
22 MSALS 22 & 23 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- ot R3 100,000& »12& 1,200
O sHE=SEMSAE RFU 73036 ~600L 2,628
OSH dasss 29 o 2o 45,019 64,849 £19,830
101 @124l 2,004 6,024 24,020
04 JIZHHZ2Z2XNHESE S+ 2,004 6,024 A 4,020
O =¥ 823 L XA o2y
66,8003 x3H 10! 2,004
201 Let24d] 43,015 58,825 A 15,810
01 At 22/ 14,538 16,788 A2,250
O g=s4 37% MEH 15,000& x50 = *7 3] 5,250
O delHiole s2J |sX&el 2|
180,000& = 12& 2,160
O g=4 Agdy ™2 U =2
400,000 123 4,800
O =2 YHsESAH 194,000& 128 2,328
02 2324gHl 28,477 42,037 A 13,560
O Usx dsg=4a 3t S 282
6,000,000& 6,000
O A== KX 2eldl 4,000& x822m’ 3,288
O &8IIRe3 500,000& 1201 & 6,000
O =ER= 120,000 1200 & 1,440
O Ze/HIoIH EIIEAMN =2 250,000& 250
O U=sSA dE=sa &4 2 22 HIE P
e 11,499
- 2 &N 72¢
4,000 #3501 A+ 120 & «2BH & 3,360
- 2EH 2 5,000& x354 &+ 1204 & 2,100
- S2Hls P2 2,200 *350f & 124 & 924
- #HEEE 2Y 2,000 x350f & %1204 & 840
- HAAEZ(MBH S) 100,000& *123] 1,200
- Mol (502l H) 5,300& x1005% = 530
- M8 E(10021H) 10,2002 * 100 2 1,020
- el NEM P
18, 150 & 350 2«12 0. 24 1,525
SBEUOIAES Moags4 22H L AL HES 1,000,000 0 1,000,000
) 300,000
s 700,000
401 Al HIZ 201 I 1,000,000 0 1,000,000
s 300,000
s 700,000
01 A& HI 993,700 0 993,700
O EHOIAES d=c8=a 228 E A&
HE= A 993,700,000 993,700
s 298,110




SN RHBBHSD

PSP ﬂl%&é 4 (232 /HK)
ool HSAaE el 2 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 695,590
03 A& 2 0HH| 6,300 0 6,300
OSEHIOIAEIE dE=A 2228 Y AL
HE > AHY 6,300,000& 6,300
as 1,890
= 4,410
MEHAXNY & 54 429,570 90,840 338,730
Mt 4 AA 90,840 90,840 0
307 212t01 & 90,840 90,840 0
02 DIZtBAAEE X 43,240 43,240 0
O 2 M\ HWHYyE s8N
1,000,000& *x25&5 = 25,000
O MEdstsd S 2 JrWAFISH X3
400,000 *15EH Al 6,000
O dM=2H=sUa SUHE Z2IF MOHZ2H HI|H
M X (dEs8,2Z,84)1,000,0002 352 3,000
O ZH=EZ 2 TS0 ASHAM L J 2
2Ot 70,0003 *11H *x123] 9,240
03 AAHNEESIHIES 47,600 47,600 0
O ZH=3 28ANA 47,600
- MRA 29 1,000,000& x12& 12,000
- A2 XA 30,000
L ANR=2E 1,500,000& x12& 18,000
. 2HAF 1,000,000& x12& 12,000
-2 MEes Ad & N dES0H]
5,600,000 5,600
NyesYIIR(deed) dasy 338,730 0 338,730
301 Bt A= 336,730 0 336,730
Vo=t - 2sFsSEAZ 336,730 0 336,730
=1t 249,000
-Xl & X+ 48,000,000 x1H 48,000
-8 (A2) 45,000,000& *x2H 90,000
-&d4=(82) 37,000,000& 34 111,000
O&ddl 38,000& x6H x60 13,680
OUisl&&bl 200,000 x6H 73] 8,400
(OFSPAES=N:] 700,000& x6H 43| 16,800
O | 20,000,000& 20,000
Oo&AZ 300,000& x6H *33] 5,400
OXaZ 1,000,000 *3H *33| 9,000
onms-g4l 300,000 x6H x2E x23] 7,200
O&H| 2l 1,250,000& x5H 6,250
Ouistal =4 &3l 1,000,000& *13] 1,000
405 Xt&HE S| 2,000 0 2,000
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J7;"0
H: MY SH(2HL2Z/HK)
ool HSHHNE o dagy (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 et ESFH S 2,000 0 2,000
OZFH 7Ll 1,500,000 =1 CH 1,500
OZgy 2l 500,000 = 1CH 500
2E Msds XA 457,220 397,220 60,000
T B 0ld Ms"gA izl & &t 404,720 324,720 80,000
202 04l 8,320 8,320 0
01 S LHOIYI 8,320 8,320 0
O 2= MSHA S WE2E S
1,590,000 1,590
O Hetedr MsEUs Fotdst o0&
1,590,000 1,590
O dotgdr MEHSUHEE Fotdsd o
1,590,000 1,590
O ZOHeIM=ESUa &It s 1,590, 000& 1,590
O 23 &9 HsSEA &It s
70,000& 2«22 *73| 1,960
307 glz2tol & 396,400 316,400 80,000
04 DI2HHALAISE E X 396,400 316,400 80,000
O Hs583 dMetdx Msdal &0 XN
120,000, 000& 120,000
O &9 ASH=sUE Ha & FHXH
5,000,000& *43| 20,000
O HM31s dMetge MEMSUSAE It XN
70,000,000& 70,000
O dg Zoe MsUa XN
10,000, 000& 10,000
O &= g &3 d=2 sl Mzl X
5,000,000& 5,000
O &g 2 MEMSUH=EA It X2
7,000,000& 7,000
O S8Ue Eag daHsUa XNE
5,000,000& 5,000
O detdE oeloldasdsusd &t N
3,000,000& 3,000
O &g old MdEM=sUa 532 It A
460,000& *25& = +23| *80% 18,400
O A& HISA Mz 53E 29H N
1,000,000& *10& = 10,000
O 83&8) &= -dg s3¢ 20z X
10,000, 000& 10,000
O SZAXNLE ¥ BHESE O3 X2
10,000, 000& 10,000
O 83&8) ¢ dgSgie 22 ta N
5,000,000& »23l 10,000
O E3&u &= -3 HUAUE X
10,000, 000& 10,000
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AN 22Z ML
M Ny 24 (2 2Z/HS)
©el: 2AZ HSHE X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O &= Zogd=sda &2 XA
3,000,000& 3,000
O &= 2&U3 Mz X 15,000, 000& 15,000
O HE=XAtH dEXs 87U Hal X
el 10,000, 000& 10,000
O M3z dg=dHogdEM=sal ot X
el 10,000, 000& 10,000
O g2 Z2F=8E RAE02UE N
z X 20,000,000& 20,000
O MER23 AMZAHOE2UHSE Nzl XA
15,000, 000& 15,000
O 2019 Mete S XIAB ME M= BHRHE
15,000, 000& 15,000
= &2 MSA WA 52,500 72,500 A20,000
307 glz2+ol & 52,500 72,500 A20,000
04 QIZFHALAIH E = 52,500 72,500 220,000
O d&sl&) Z2 HoES tal Mz X
5,000,000& 5,000
O =gl 28 =Zia Nzl N2
15,000, 000& 15,000
O M9zl HXH MA==U3l Hxl XA
7,500,000& 7,500
O Hgsld) 28U =203 Hz X
5,000,000& 5,000
O g8z sHUe dd =02 Mzl XA
15,000, 000& 15,000
O g83&) dEHs &7 WX
5,000,000& 5,000
Stuis & dais 54 481,147 876,735 A395,588
J| 181,499
< 3,819
s 295,829
studs =4 X 49,000 63,500 A 14,500
308 AHAIEHHSOIA 49,000 63,500 A 14,500
08 WSII20HStE X 49,000 63,500 A 14,500
O 2 SEJN2s(d&d) 848w N 20,000
- 11ssn 8,000,000& 8,000
- =81 1,000, 000& 6 & 6,000
-dsd IXXA 500, 0003 24 W x6& 6,000
O s> 22X 5480 NH 25,000
-gE=2Z 2,000,000& 6 & 12,000
- 23 80, gux ,HE2x 0=
2,000,000& *5J4 w 10,000
- R2IX ZYUXNE DHR(FW=E)
500,000& x6& 3,000
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H: MY SH(2HL2Z/HK)
Sl DN L MBS S4 CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O sulds AZx T2 2H XA (2 AHY])
40,000 44 & = +50 Al 2H+50% 4,000
dEds 2208 22 60,200 63,200 A 3,000
307 gl2tol & 60,200 63,200 A 3,000
02 IZHE M AHE L 60,200 63,200 A 3,000
O ooze 23 ZA=2 X&  400,000& 128 4,800
O dEXd=s el A7lud 24 X2
100,000& *80H 8,000
O deX=x 22 22 N
300,000& 90 S H 128 32,400
O Mg d2isoz20dy 24(83449, 0
o, 64, 0=4l) 3,750,000 43 15,000
MEHENEN 4 N 17,820 17,820 0
307 glz2tol & 17,820 17,820 0
02 It M AHE X 17,820 17,820 0
O MEHNSXNEN 22 HMSEHA EIHEHA
Hl X & 20,0003« 1B 5L «12& 13,200
O HEHESXNEA S MISHA It 2%
04 bl 70,000& x 11 x62 4,620
HEHSWNY 2¢ 8,100 8,100 0
307 gl2tol & 8,100 8,100 0
02 It M AHE L 8,100 8,100 0
O MEHsns 2L (7S INHES)
900,000& x9& = 8,100
UM S S HI(2SXH)(MLH HEUW= 138,000 128,040 9,960
S X BHXI XI&
J| 69,000
e 69,000
307 glz2+ol & 138,000 128,040 9,960
J| 69,000
e 69,000
02 QB HAANGEEE 138,000 128,040 9,960
O Bt et =X X XA
2,300,000 «6H «12& 138,000
J| 69,000
e 69,000
24 MEHSXAESH X (2SX) (024 WS 165,600 153,648 11,952
gs A&
J| 82,800
[ia 82,800
307 21201 A 165,600 153,648 11,952
J| 82,800
s 82,800
02 IS AHEL 165,600 153,648 11,952
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